1. o=

o
o

A2 ALgst Ao e U, A, B, C © & 747 Tl

4 710l 50 491 72 a 9] @+ (50 x 4) 9
a7, b A% 5 T2 AH] Bt {(a+b) + B} A

C
0% < 438 rg Soll ol At T F: (o xa) g

— AR




el Zol7k o, W] Pol7} 20 , Eol7t h A AlrkelBe] ek a =
4, h=5 9 0 ATkl B Yol & Fstelet,



olJ

olJ
ol
Ko

olp

@ a+-bxc=a~+bc

@ arbrc=a+(bxc)

a+(b+c)

® ax((b+c)

@ a+b+rc=ac+b



4.

wale] ol7t 20 o]a Eol7t y A AH2

Uepfiofe

O zy



3 xaxbx1xad 3 715E JeFsto] vt27] Yepd 7222

@ 3abla @ 3a2b ® 3laab

@ 3aab ® 3xaaxb



o], o3 % ALt A3 Yy 9} g E sk

@ —a+2 B a2
® 2a



® —a—2b

@ —a+b

D —ab

1
@ _a_be

@ —a®+b?



